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3agada Nel.

[NaHo: AB:BC =4:3,
AC = 21cwm.
C Hawutu: AB, BC.



3agada Ne2.

[laHo: AB = 20cm,
M — cepeanHa AB,
K - cepegunHa BM.
M K B Hawutu: AK.
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EB.

C

3agada Ne3.

[1aHo: AB = 30cm,
AG =Chb BE=

Hauntin: CE.
E B



3agada No4.

[NaHo: - AOB = 1257,
AOD = 31",
COB =42".
B Hanmtn: DOC.



3agada Nos.
[laHo: . AOC > BOCB?2

AOB =120°.
Hantn: AOC, BOC.
A



1

3agada No6.

[aHo: =~ 1:
Hantn:, 1,

2=4:5.
2.



3agada Neo7.

[laHo:, 3=42".
Hantn: , 1, , 2.



3agada Ne8.

[laHo: 1+ , 2+, 3=230°
Hantwn:, 1, 2,, 3.



3agaydm Ne9, 10.

[laHo: A, B, C € a, AB =10,8cm, BC = 2,4cwm.
lanTun: AC.

[laHo:, AOB=46°, BOC =85".
Hantn:  AOC.



[lomallHee 3agaHue.

[loBT. rn. I, Ne 33, 47(a), 64(a).



